





Exhibit 7B





ANSWERS TO LONG-TERM FINANCING QUESTIONS





Example 1:





A company issues a $100,000, 12%, 10-year bond.  The semi-annual interest payment is:  





$100,000 * 12% = $12,000 / 2 = $6,000








Example 2:





A company issues a $100,000, 14%, 20-year bond at 94.  The maturity value of the bond is $100,000.  The annual interest payment is:


		


14% * $100,000 = $14,000





The proceeds from the issuance of the bond:





94% * $100,000 = $94,000





The amount of the discount is:





$100,000 - $94,000 = $6,000








Example 3:





An Annuity is a series of periodic payments, not necessarily annually.  Usually they are of equal magnitude and paid at identically spaced time intervals.





Present value is the stock of wealth an investor is willing to accept today in lieu of promises to receive returns at a future date.





Net present value (NPV) is the difference between the present value of an expected annuity and the present value of the investment required to acquire the annuity.





The Board of Directors of Company XYZ are concerned about $12,000 in annual payments they are required to make on $100,000 face value bonds outstanding and due to mature in 15 years.  They are advised that they have the right to call the bonds beginning this year if they pay two years’ interest in addition to the face value.  Legal and administrative costs associated with calling the old bonds and issuing new bonds are estimated at $10,000.  In view of the greatly improved financial situation of the company and generally improved market condition, the new bonds are expected to sell at a 6% coupon rate.
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The outlays in this case are as follows:





Excess interest payments:  2 * $12,000 = 	$24,000


Administrative costs          			           10,000


Total costs					         $34,000





The present value of the benefits expected to accrue to the company are the difference between the old and new interest payments, discounted to the present at the going market rate of interest.  Thus:





Old interest payment				         $12,000


New interest payment				    6,000


Annual savings				                 $  6,000





Thus the benefits are the present value of an annuity of $6,000 for 15 years at 6% (present value of an annuity factor for 15 years at 6% = 9.712):





NPV = $6,000 * 9.712 - $34,000 =   $24,272





Since the NPV is positive, the decision to refinance is beneficial to the company finances and should be accepted.








Example 4:





As of December 21, 1996, ABC Company has 6,000 shares of $15 par value, 14%, cumulative preferred stock outstanding.  Dividends were not paid in 1994 and 1995.  Assuming the company has been profitable in 1996, the amount of the dividends to be distributed is:





Par value of stock - 6,000 shares * $15 =  $90,000





Dividends in arrears ($90,000 * 14% * 2 )	$25,200


Current year dividend ($90,000 * 14%)	  12,600


Total dividend					         $37,800





To find per share dividend paid:  Total dividend/number of shares outstanding





$37,800/6000 = $6.30


Long-Term Financing





�PAGE  �1�


LO1D4E~5.doc











